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Antworten

Bsp. 0,0024

1. 1,62

2. 11,31

3. 0,0598

4. 6,28

5. 1,98

6. 20,79

7. 14,67

8. 3,159

9. 4,455

10. 1,2

Löse jede Aufgabe.

Bsp) At the malt shop a large chocolate shake takes 0,24 of a pint of milk. If the medium
shake takes 0,01 the amount of a large, how much does the medium shake take?

1) A full truck weighed 4,05 tons. If the truck was only 0,4 full, how much would it weigh?

2) A bag of strawberry candy takes 2,9 ounces of strawberries to make. If you have 3,9
bags, how many ounces of strawberries did it take to make them?

3) On Monday Jonas picked up 0,23 of a kilogram of cans to recycle. On Tuesday he picked
up 0,26 that amount. How much did Jonas pick up on Tuesday?

4) A restaurant had 2 full boxes of spoons. If each full box weighed 3,14 kilograms, what is
the combined weight of the boxes the restaurant has?

5) Antonia needed 0,66 of a cup of water for her plant. If she had 3 plants how many cups
would she need?

6) An old road was 4,5 miles long. After a renovation it was 4,62 times as long. How long
was the road after the renovation?

7) A soda shop owner told his employee to add 4,89 cups of syrup to each liter of soda. If
there were 3 liters of soda, how much syrup would be needed?

8) A bottle of soda had 3,51 of the daily recommended sugar. If you were to drink 0,9 of the
bottle, how much of the daily recommend sugar would you have drank?

9) A new dish washing machine used 4,5 liters of water per full load to clean dishes. If
Jonas washed 0,99 of a load, how many liters of water would be used?

10) Each day a company used 0,4 of a box of paper. How much would they have used after 3
days?
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